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1. Introduction

CT1#87 discussed on whether the TWAG UDP port number for WLCP should be from the Dynamic Port range, i.e. non-assigned, or from the User Port range assigned by IANA. Some companies in CT1#87 supported the Dynamic Port option, while others supported the User Port option. CT1#87 made decision to discuss on this topic furthermore in CT1#88 in Cape Town. This discussion paper argues in favour of the User Port option.
2. Justification for selecting static port number for TWAG UDP

At least the following justifications for using assigned User Port number can be identified:
· An assigned User Port would make network management easier. It is possible that several firewalls will be traversed during the signalling exchange between the terminal and the TWAG. The firewalls of the network operator are configured in order to block traffic destined to port numbers that are not explicitly allowed using a firewall rule. If a dynamic ephemeral port is used, the signalling traffic between the terminal and the TWAG could be blocked unless the operator uses firewalls with Application Layer Gateway (ALG) capabilities. And even if ALGs are used if the traffic is ciphered the firewall will not be able to “learn” the used dynamic port and open it.
· An assigned User Port would make roaming agreements between network operators easier. If a dynamic port is used, each operator will need to give the port number used by its TWAG, then the home operator needs to configure in its AAA sever the list of port numbers (in addition to the IP addresses) of the TWAGs of its roaming partners.

· As a general principle, 3GPP protocols use assigned User Ports, e.g. GTP-C uses UDP port number 2123, GTP-U uses UDP port number 2152, S1AP uses SCTP port number 36412, X2AP uses SCTP port number 36422. IKEv2 is an example of an IETF protocol between the terminal and a gateway that uses a well-known port number.
· An assigned UDP port number would simplify both the UE and TWAG implementation. For example, on the UE side, UDP port number management between the cellular modem, the application processor and the Wi-Fi modem would be simplified if the UDP port for WLCP could be set aside a-priori.

· The required level of justification for requesting IANA ports is probably misunderstood by some companies: any entity or individual around the world could request an assigned port from IANA. As such, a set of rules must be adopted to regulate the process. However, the commercial potential of 3GPP technology is in itself a sufficient justification for IANA to approve the request for an assigned UDP port for a new 3GPP protocol. With this in mind, the proponents of the non-assigned ports should provide their arguments for rejecting the established principle of using assigned UDP ports for 3GPP protocols. 
3. Conclusion

Based on the arguments outlined in Section 2, it is proposed that CT1#88 fill up and send out IANA application form for Application for Service Names and User Port Numbers (draft application in C1-142940).
